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These marking notes are the property of the International
Baccalaureate and must not be reproduced or distributed to
any other person without the authorization of the IB Global
Centre, Cardiff.

Ces remarques pour la notation sont la propriété du
Baccalauréat International. Toute reproduction ou distribution a
de tierces personnes sans l'autorisation préalable du centre
mondial de I'IB a Cardiff est interdite.

Estas notas para la correccion son propiedad del Bachillerato
Internacional y no deben reproducirse ni distribuirse a ninguna
otra persona sin la autorizacion del centro global del IB en
Cardiff.
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Section A
Criterion A: Language
¢ Does the student demonstrate an ability to use the language effectively and accurately?

o Does the student use spelling, calligraphy (see “Glossary of terms”), vocabulary and
grammatical structures correctly and accurately?

Marks | Level descriptor

0 Language inaccuracies completely obscure communication.

Language inaccuracies often obscure communication.

1
2 Language is generally accurate and does not obscure communication.
3 Language is mostly accurate and communication is clear.
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Criterion B: Message

¢ Is all the relevant information conveyed?

Marks | Level descriptor

0 No relevant information has been conveyed.

Some relevant information has been conveyed.

1
2 More than half (at least three pieces of information) has been conveyed.
3 All relevant information has been conveyed effectively.

Question 1:

BHIRT=DOV 220V TTN D20 EMEST, 580 £9, RRE—ZENT, ZKOR
NIRIZ FDZ EIZHOWNWT HZTL SN,

o fi[Z fEV £9 0

e YOLT ZDV L5V ZEEVETH, 22FNTIEIN,

e U D J':'—E’Uij—f))o

o LT BN ETH,

Question 2:

K, HRI-OFRT aryy— 2 LET, BLIALE BESAEZ LW TT,
H—FZ2ENT, 2= MIOWNWT HZTLEIN,

o Y — PRI, VWOTT

o LATRETITT D,

i3 FELWTT D, 2D2FNTLEEN,

ORI E, a2 — T E LET D,

Criterion C: Format

¢ Does the format correspond to the task?

Marks Level descriptor

0 The format is not appropriate.

1 The format is appropriate.
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Section B
Criterion A: Language

e To what extent does the student demonstrate an ability to use the language effectively and
accurately?

¢ Does the student use a range of vocabulary and grammatical structures?
Does the student show an awareness of the appropriate register for the task?

Marks | Level descriptor

0 The response does not reach a standard described by the descriptors below.

The response and communication are of limited effectiveness.

The range of vocabulary used is limited.

1-2 | Some basic grammatical structures are used accurately. These are isolated and limited
in range.

Register is inappropriate.

The response and communication are partially effective.
The range of vocabulary used is sometimes varied.

Most basic grammatical structures are used accurately.
Register is partially appropriate.

3-4

The response is generally accurate and communication is generally effective.
The range of vocabulary used is varied.

5-6 | Basic grammatical structures and a limited range of more complex grammatical
structures are used accurately.

Register is generally appropriate.

The response is accurate and communication is effective.
The range of vocabulary used is varied and effective.

7-8 . :
Basic and some more complex grammatical structures are used accurately.
Register is appropriate.
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Criterion B: Message

e To what extent does the student fulfil the task?
o Are the ideas well-developed?
¢ Is there evidence of a logical structure (paragraphing and sequencing)?
¢ Are cohesive devices used effectively?
Marks | Level descriptor
0 The response does not reach a standard described by the descriptors below.
The task has been partially fulfilled.
1-2 One or more ideas have been identified and have been partially developed.
There is limited evidence of a logical structure.
There is a partially successful use of a limited range of simple cohesive devices.
The task has been generally fulfilled.
3.4 One or more ideas have been identified and have been developed.
There is evidence of a logical structure.
There is a generally successful use of a range of simple cohesive devices.
The task has been fulfilled.
5.6 All ideas have been identified and some have been developed well.
There is a logical structure.
There is successful use of a range of simple cohesive devices.
The task has been fulfilled effectively.
All ideas have been developed well.
7-8 i ; i
There is an effective, logical structure.
There is successful use of a range of simple and some complex cohesive devices.
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Question 4:
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Criterion C: Format

N18/2/ANJPN/SP2/IPN/TZ0/XX/M

e To what extent does the student succeed in using the correct text type?

¢ Does the student use the appropriate format?

Marks | Level descriptor

0 The format is not appropriate.

1 The format is partially appropriate.

2 The format is appropriate.
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